M10 Concept Question 1

Given the displacement distributions for a
circular shaft undergoing a torsional loading:
Le. :

u = 0
U, = —¢(X1 )X3

13 = —(x;)x,

Which are the non-zero components of
strain?
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Some other answer

| do not know/I do not understand.
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M10 Concept Question 2

Given a distribution of shear stresses, o,, and o,; on the
cross-section of a circular shaft, which expression below
most completely describes the torque, T, transmitted at
that cross-section:

1.7 = [ (%2013 = %301, Jdxsdx,
2. T = JTRz (012 + 013)
3. T = [f(x3015 = %013 Jdxsdx,

4. T = [(012%;3 Jdx3 + [(013%; )dx,

23
5. I'= %(012 +0y3)

Some other answer

| don't know/don't understand.





